[
B

IDK 3V3 2
FAULT1 4 ® B+
— ® ©
TX5 1o
FAULTZ2 8 o o
FAULTS 10 o E 2
FAULTZ 12 |9 el 1L EN& 7 *
FAULTS 14 o © 13 ENBX
FAULTE 16 15 E »
FAULT/ 18 | @ ol 17 e X Ml
FAULTS 20 | o @ t—19 J/ENL+14
L SEH 22 2y
LTS ST A
2% | o EN L+2
L FAULT 28 |o
H SEH 30 29
=&l 27 : 31 RX4 0%7B (error) OxAZ 0x00
RX2 34 [ ol 2 R
R Ve el 5 RX6
TX2 38 37 TX3
-9 @ 30 I
Wl 22 : : 21__EN L+$||'GND ZO0M
H SEL j? e 42 EH t+g :
) @ o1 + Analyzer Settings
HFAULT 48 | o o1 a7 EN L+t
EN L+8 50 o o 49  EN L+7
52 o © 51 BXT Serial 1 = ‘Channel 1’ -
TX6 54 o o 53  RX8 . .
TX8 58 o o 57 TX4 [[] use Autobaud
%—. .—LI 8 Bits per Transfer (Standard) -
TW-30-N3-F-N-300-SM

1 Stop Bit (Standard) =

Even Parity Bit v

Least Sienificant Bit Sent First {(Standard) »
Non Ihwerted (Standard) ~

Special Mode  None -

Cancel
Question:

Is it proper |0-Link slave
serial configuration to convert to Hex data for TIDA-0100167



